Waoh>: SuradSsnaSrens>M ﬁ%:‘&k «m«mrusguumw
Wom‘ﬁﬂt\}b\ﬁl‘\\\J 5?»" wew X llam.b):mf) s -2
Mﬁlﬁ oN ATWVON
C yownd X
@ voou ¥

=0

V = | 3% (o-x)(x= 0)de

Xz~




Nu J- D

J\’Mn ’ Qa\mﬁamﬂ It A ‘ﬁ\a?«"{\% AN Ny “‘5‘5‘1

y?nu#;q?dm‘ﬁw%c/lxﬁm j :XL’l \a’fmn Ysr-)
W0 B> x=2 Towan X

NZNW) A
S “1gavin:
f*’ b < e\ s
O TN 74
Lf’j %&.'3— I =
J "’\Ly‘)b sO
» X(x")so
= X so 1
e
29 "-L o
) qan\d\@o)
Q) 1) 3*1 =
V-V“*VZ*V&; Yysa
y=*e
s f&i(o—g)(\rﬁ - (ye))dy

y=-1
9=L
4 S)-Tl (3«)((,3”)-\)3:)0@



noody ¢ Qﬁ\(\g,udu G wu)?amﬁ TfOINTI R Jv‘g ¥ wiloe

\IFI[(F—) o}o‘ﬂ




